Notes 10.5 & 10.6 Determinants & Inverses
I = Identity Matrices:

2d order 2 1= (1] (1)
3rd order 4th order etc...
1 0 0 1 0 0 0
I={0 1 0 I=10 1 0 o
00 1 0 0 1 0
00 0 1




Each square matrix has a determinant,
which 1s a single numerical value. If the
determinant is 0, then the inverse of the
matrix does not exist (dne)
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The product of a matrix (A) and 1ts
inverse (A™!) is the identity matrix:
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* 3 x 3 determinant (3"¢ order)
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WARM 'U P A. Write the identity matrix

for a 2x2 and a 3x3 matrix:
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B. Evaluate:
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C. Find the determinant of the
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D. Find the inverse of matrix M/
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WARM-UP

E. Find the determinant of matrix V.
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